
f(t) F (s)

δ(t) 1

1(t)
1

s

t · 1(t)
1

s2

t2 · 1(t)
2

s3

eα t · 1(t)
1
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t · eα t · 1(t)
1
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sin (ω t) · 1(t)
ω
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cos (ω t) · 1(t)
s

s2 + ω2

t · sin (ω t) · 1(t)
2ω s

(s2 + ω2)
2

t · cos (ω t) · 1(t)
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(s2 + ω2)
2

eσ t
· sin (ω t) · 1(t)

ω

(s− σ)
2
+ ω2

eσ t
· cos (ω t) · 1(t)

s− σ

(s− σ)
2
+ ω2

t · eσ t · sin (ω t) · 1(t)
2ω (s− σ)

[

(s− σ)2 + ω2
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(s− σ)

2
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[

(s− σ)
2
+ ω2
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Tabella 1: Segnali e corrispondenti trasformate di Laplace



f(k) F (z)

δ(k) 1

1(k)
z

z − 1

k · 1(k)
z

(z − 1)
2

k2 · 1(k)
z (z + 1)

(z − 1)
3

ak · 1(k)
z

z − a

k · ak · 1(k)
a z

(z − a)
2

sin (ω k) · 1(k)
z sinω

z2 − 2z cosω + 1

cos (ω k) · 1(k)
z2 − z cosω

z2 − 2z cosω + 1

ak · sin (ω k) · 1(k)
a z sinω

z2 − 2 a z cosω + a2

ak · cos (ω k) · 1(k)
z2 − a z cosω

z2 − 2 a z cosω + a2

k (k − 1)

2
· 1(k − 2)

z

(z − 1)3

k (k − 1)

2
· ak−2 · 1(k − 2)

z

(z − a)3

Tabella 2: Segnali e corrispondenti Z-trasformate


